2.7 Inverse of a Function - Worksheet
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1) Sketch the graph of the inverse of each function. [s the inverse of f(x) a function? Explain.

b)

2) Determine the equation of the inverse of each function.

) f(x) =2x b) f(x) = 6x =5
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3) Determine the equation of the inverse of each function
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2x+4

Q) f(x) ==

- RCH"{
J 5 N

Y= 3;4-\-‘1
5

SQ:QLG—H{ /

S5«- Y- ?\:_j //
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4) For each quadratic function, complete the square and then determine the equation of the inverse.

a) f(x) = x* +6x + 15 b) f(x) = 2x2 + 24x — 3
$) = (P4 19-9Y 41 (1) = 20 413y 373
flay s (243) 4, O EFICHAI
1 (gl 13 (g 75
A6 = {Ly%'ﬁ ’k+75 (Ly(,
rJx-6 -3 :\j iF/}{__ﬁ_ _é .

ly) -t -
% (0() Y %4»“/3 é

5) Determine if the two relations shown are inverses of each other. Justify your conclusion.
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6) For the function f(x) = -5x + 6
a) determine f~1(x) b) Graph f(x) and its inverse
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7) Use transformations to graph the function f(x) = 2(x — 2)? + 1. Find the inverse function f~*(x) and
graph it by reflecting f (x) over the line y = x (switch x and y co-ordinates)

D) Vet o) syl in bofo & (2
L) oW o g A unirs (e
3) SWEv up 4 unt (1)

Wy x’
XY .rul}{-\ “X.

(3,9) ] PR U\)
(2,4) C\) 1\ 9 |o
-4H") 2 |7 ] 2 [y

2 BE
(O.O) 3 3 j;{\#&q,
(1) Y19 f{ 3
(2,4) : “ 19 g
(3,9)

TN U SR O

e

00876643 210 123456780710 008765 43 210 %‘W

& odn ot ondn Ao R e

T
o

8) Determine the equation of the inverse for the given functions and state the domain and range.
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Answers

1) a) the inverse is NOT a function b)

5x—4
2

2)a) f1@) =5 B) f1) =22 M) =

3)a)f () =+Vx—6 b)f'(x) =LVx -8
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4)a) f'() =4tVx—6-3 b)f(x) =+ |=———6
5) a) yes b) no
6)a) f'(x) === b) ,
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inverse is NOT a function

8) a) f1(x) = x% — 3; Domain for f(x): {X € R|x = —3}, Range for f(x): {Y € R|y = 0}
Domain for f~1(x): {X € R|x = 0}, Range for f(x): {Y € R|y = —3}

b) f71(x) = ﬁ+ 2; Domain for f(x): {X € R|x # 2}, Range for f(x): {Y € R|y # 2}
Domain for f~1(x): {X € R|x # 2}, Range for f(x): {Y € R|y # 2}



